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	 1.	 Which method emphases more on 
spoken than written language?

		  (A)	 Audio Lingual Method
		  (B)	 Grammar Translation Method
		  (C)	 Structural Approach
		  (D)	 Deductive Method

[CTET (1-5) (Lang. 1) 12/01/2022]
	 2.	 Order the following steps to represent 

a typical pedagogical sequence for 
teaching students how to write :

		  I.	 Get students to write letters and 
numbers-1,4,A,L

		  II.	 Get students to write letters and 
numbers-0,8B,Q

		  III.	 Get students to read a loud and write 
any letter/number.

		  (A)	 II, I, III	 (B)	III, I, II
		  (C)	 I, II, III	 (D)	II, III, I

[CTET (1-5) (Lang. 1) 10/01/2022]
	 3.	 ‘X’ is an online tool which provides a 

set of flash cards with new words, their 
meaning, pronunciation and usage in a 
sentence.

		  Which of the following skills can be built 
using this online tool?

		  (A)	 Making connections between two 
different texts.

		  (B)	 Reading a given text and answering 
factual questions.

		  (C)	 Making inferences about events in 
the story.

		  (D)	 Reading a given text fluently with 
expression.
[CTET (1-5) (Lang. 1) 10/01/2022]

	 4.	 Which of the following would be the 
LEAST effective tool to teach spellings 
to grade III children who are learning 
English as their second language?

		  (A)	 Picture Dictionary
		  (B)	 Word Wall
		  (C)	 Flash Cards
		  (D)	 Bilingual texts

[CTET (1-5) (Lang. 2) 10/01/2022]
	 5.	 Which of the following is LEAST 

TRUE with respect to Whole Language 
Approach?

		  (A)	 Focus on meaning making,rather 
than grammatical structures.

	 	 (B)	 Vocabulary should be taught through 
physical movements.

		  (C)	 Encourage spontaneous conver-
sations among the students.

		  (D)	 Prior knowledge of students should 
be effectively used.
[CTET (1-5) (Lang. 2) 10/01/2022]

	 6.	 This makes the learners use language for 
purposes?

 		  (A)	 An authentic task
		  (B)	 An exercise
		  (C)	 A memorization part of the poem
		  (D)	 Decoding of the text.

[CTET (1-5) (Lang. 2) 11/01/2022]
	 7.	 The learners in a constructivist classroom :
		  (A)	 interact in groups and create noise in 

the classroom.
		  (B)	 pen down all options in the 

notebooks.
		  (C)	 interact only with the teacher.
		  (D)	 do not interact at all.

[CTET (1-5) (Lang. 1) 08/01/2022]
	 8.	 A student whose home language and 

School language are different, how can 
you, as a teacher, help as are source?

		  (A)	 By giving him extra attention in 
class. 

		  (B)	 Using multilingualism as resource 
in the classroom. 

		  (C)	 By giving him flexibility in 
homework related work. 

		  (D)	 By teaching in the class in his 
mother tongue. 
[CTET (1-5) (Lang. 1) 04/01/2022]

	 9.	 The central role in total physical response 
is of :

		  (A)	 teacher	 (B)	parents
		  (C)	 family	 (D)	student

[CTET (1-5) (Lang. 1) 04/01/2022]
	 10.	 Rohini wants to present content before 

class students. Which of the following 
points should she consider ?

		  (i)	 use of teaching activities (dialogues 
and information gap etc.). 

		  (ii)	 demonstrate formal communicative 
and other aspects of target language. 

		  (iii)	provide proper scaffolding whenever 
necessary. 

		  (iv)	try to develop a habit of drilling. 

		  (A)	 (i), (ii), (iii)	 (B)	(i), (ii), (iv)
		  (C)	 (i), (ii)	 (D)	(ii), (iv)

[CTET (1-5) (Lang. 2) 04/01/2022]
	 11.	 The language game of crossword puzzles 

helps students improve their :
		  (A)	 reading	 (B)	vocabulary
		  (C)	 writing	 (D)	speaking

[CTET (1-5) (Lang. 2) 28/12/2021]
	 12.	 A teacher read a loud half of the text 

and then asks learners in groups to write 
their own endings. What type of activity 
is this?

		  (A)	 Experiential activity
		  (B)	 Group work
		  (C)	 Writing activity
		  (D)	 Intake activity

[CTET (1-5) (Lang. 1) 27/12/2021]
	 13.	 When a child is asked to recite a poem, it 

can help the teacher to assess her :
		  (A)	 knowledge of literature
		  (B)	 proficiency in speaking
		  (C)	 acting talent
		  (D)	 comprehension

[CTET (1-5) (Lang. 1) 20/12/2021]
	 14.	 Functional aspects of the language 

gained momentum with the ............ of 
language learning. 

		  (A)	 communicative approach
 		  (B)	 structural approach
 		  (C)	 constructive approach
 		  (D)	 traditional approach

[CTET (1-5) (Lang. 2) 20/12/2021]
	 15.	 At primary level the instructions for a 

language game or an activity should be 
given in :

		  (A)	 child’s home language or mother 
tongue. 

		  (B)	 second language or English. 
		  (C)	 the school language or state 

language. 
		  (D)	 the teacher’s language or medium of 

instruction. 
[CTET (1-5) (Lang. 1) 21/01/2022]

	 16.	 Which one of the following is NOT 
correct with respect to the following 
sentence ?

		  Rhymes, songs and chants are the ways 
for children to :

Role of Listening and Speaking, Function of 
Language And How Children Use It As

Chapter

5
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 		  (A)	 internalise words and sentence 
structure

		  (B)	 practise pronunciation. 
		  (C)	 learn grammar through the text. 
		  (D)	 extend vocabulary

[CTET (1-5) (Lang. 1) 21/01/2022]
	 17.	 Which approach basically promotes 

fluency ?
		  (A)	 Structural approach
		  (B)	 Communicative approach
		  (C)	 Behaviouristic approach
		  (D)	 Grammar translation approach

[CTET (1-5) (Lang. 1) 22/12/2021]
	 18.	 ESL stands for :
		  (A)	 Education Smart Learning
		  (B)	 English as a Second Language
		  (C)	 English School Library
		  (D)	 English as a Specified Language

[CTET (1-5) (Lang. 2) 22/12/2021]
	 19.	 Which of the following is a characteristic 

of extensive reading?
		  (A)	 Reading for fluency involves 

reading of longer text for pleasure
		  (B)	 Reading for accuracy involves 

approaching a text under the close 
guidance of a teacher

		  (C)	 Glancing rapidly through the text to 
find out some piece of information

		  (D)	 Go through the text quickly in order 
to get gist
[CTET (1-5) (Lang. 1) 01/01/2022]

	 20.	 Phonemes refers to :
		  (A)	 minimal meaningful units
		  (B)	 vowels in a language
		  (C)	 sounds in a language
		  (D)	 grammatical structure of a language

[CTET (1-5) (Lang. 1) 21/12/2021]
	 21.	 The main role of children’s literature at 

primary level is :
		  (A)	 its simple and easy
		  (B)	 its full of colourful picture
		  (C)	 it provides the variety of languages
		  (D)	 its taught in the school

[CTET (1-5) (Lang. 1) 21/12/2021]
	 22.	 Which one of the following is not true 

about Role Plays?
		  (A)	 The role play brings a situation from 

real life into the classroom. 
		  (B)	 Students feel that they are 

really using the language for a 
communicative purpose. 

		  (C)	 Students experiment with language 
they have learned. 

		  (D)	 Students are supported to do the role 
plays of their textbook. 
[CTET (1-5) (Lang. 1) 21/12/2021]

	 23.	 Talking to children to help them develop 
their oral language is an important 
component of :

		  (A)	 process writing approach
		  (B)	 intensive reading
		  (C)	 product writing approach
		  (D)	 emergent literacy

[CTET (1-5) (Lang. 1) 31/12/2021]
	 24.	 Which of the following is true for writing 

as a process?
		  (A)	 Writing is receptive
		  (B)	 Writing is recursive
		  (C)	 Writing is linear
		  (D)	 Writing is memorizing and 

reproducing
[CTET (1-5) (Lang. 2) 31/12/2021]

	 25.	 Which one of the following is NOT true 
for story telling as a pedagogical tool?

		  (A)	 It helps to memorize the moral of the 
story

		  (B)	 It helps to explore   regional and 
cultural diversity of our country. 

		  (C)	 It helps in integrating stories into 
curriculum at  all levels. 

		  (D)	 It helps to enhance the power of 
imagination and creativity. 
[CTET (1-5) (Lang. 2) 31/12/2021]

	 26.	 Integration of Toy Based Pedagogy in 
language learning can be done through :

		  (A)	 role play using toys
		  (B)	 setting up toy corner in the classroom
		  (C)	 using toys to teach moral values
		  (D)	 drawing the favourite toys

[CTET (1-5) (Lang. 2) 31/12/2021]
	 27.	 Objects and things are used by teachers 

for teaching-learning of vocabulary and 
other aspects of language. What are these 
materials?

		  (A)	 Play way materials
		  (B)	 Toys and games
		  (C)	 Realia
		  (D)	 Cultural materials

[CTET (6-8) (Lang. 1) 04/01/2022]
	 28.	 Which of the following statements 

regarding the use of language games is 
incorrect ?

		  (A)	 They can be used for revising 
previously taught language. 

 		  (B)	 A game can be used as a warm up 
activity

 		  (C)	 A game distracts students from the 
objectives of learning. 

		  (D)	 Establishing the connect between 
a game and learning objectives is 
challenging. 
[CTET (6-8) (Lang. 2) 06/01/2022]

	 29.	 Children read and write to achieve the 
purpose of :

		  (A)	 Rote memorisation
		  (B)	 Construction of the meaning
		  (C)	 Completion of class room task
		  (D)	 Seeking certificate for promotion

[CTET (6-8) (Lang. 1) 08/01/2022]
	 30.	 A teacher does actions which learners 

follow as directed and learners are not 
expected speak or produce language. 
What is this method known as?

		  (A)	 Imitation method
 		  (B)	 Total Physical Response
 		  (C)	 Dramatics
 		  (D)	 Communicative approach

[CTET (6-8) (Lang. 1) 20/12/2021]
	 31.	 A task which supports learners to connect 

form, meaning and use is :
		  (A)	 communicative task in grammar 

learning. 
		  (B)	 language learning tasks for meaning 

making
		  (C)	 formative tasks for grammar learning
		  (D)	 Procedural grammar learning. 

[CTET (6-8) (Lang. 2) 20/12/2021]
	 32.	 What does ‘Innateness’ in language refer 

to ?
		  (A)	 The voluntary nature of humans in 

speaking. 
		  (B)	 The problems faced by children 

when they begin to speak language. 
		  (C)	 The natural ability of humans to 

speak a language. 
		  (D)	 The thinking of humans before they 

speak in a language. 
[CTET (6-8) (Lang. 2) 29/12/2021]

	 33.	 A teacher of class III writes the names 
of the objects in the language of learners 
and in English on a paper and pastes 
them near the objects. What does she aim 
at here?

		  (A)	 Teaching letters of alphabet
		  (B)	 Teaching vocabulary
		  (C)	 Creating language rich environment
		  (D)	 Teaching early writing skills

[CTET (6-8) (Lang. 1) 21/01/2022]
	 34.	 Teaching of drama should aim at 

promoting : 
		  (A)	 activity
		  (B)	 language for purposes
		  (C)	 pragmatism
		  (D)	 speaking and listening

[CTET (6-8) (Lang. 1) 21/01/2022]
	 35.	 What is ‘realia’ ?
		  (A)	 Using objects like toys, pictures and 

painting to brainstorm learners to a 
speaking activity. 



English  |   103

		  (B)	 Using reality shows for teaching-
learning of language and specific 
language functions. 

		  (C)	 Any materials like texts and 
narratives and actions. 

		  (D)	 All the teaching aids advocated by 
educational agencies and schools. 
[CTET (6-8) (Lang. 1) 30/12/2021]

	 36.	 A teacher brings in many toys from her 
home and also asks her learners to bring 
objects from their home and uses them 
in her teaching-learning situations. What 
are these known as ?

 		  (A)	 Teaching ads
 		  (B)	 Realia
 		  (C)	 Toy Pedagogy
 		  (D)	 Object-oriented learning

[CTET (6-8) (Lang. 1) 13/12/2021]
	 37.	 Sheela does the following language 

related activities. Find which one of them 
is Basic Interpersonal Communicative 
Skills (BICS) and which one of them 
is Cognitive Academic Language 
Proficiency (CALP). 

		  (a)	 Conversing with her friends and 
socializing with her friends in 
English. 

		  (b)	 Taking notes in her Physics 
classroom and writing report of the 
experiments. 

 		  (A)	 (a) is CALP and (b) is BICS
		  (B)	 Both (a) and (b) are BICS
 		  (C)	 Both (a) and (b) are CALP
 		  (D)	 (a) is BICS and (b) is CALP

[CTET (6-8) (Lang. 1) 11/01/2022]
	 38.	 In a language class students are 

memorizing the dialogues through drill 
and practice and the teacher is correcting 
their pronunciation, mistakes immediately. 
They are practising the dialogues in 
chorus. The teacher is following the

		  (A)	 CLT method
	 	 (B)	 Direct method
		  (C)	 Natural method
	 	 (D)	 Audiolingual method

[CTET (1-5) (Lang.-I) 31-01-2021]
	 39.	 A teacher prepares a worksheet and 

removes every seventh word from the 
text. Then she asks the learners to read 
the text after that they were asked to 
complete the worksheet with missing 
word. The task given on the worksheet 
is a :

		  (A)	 writing task	
		  (B)	 cloze test
		  (C)	 open test
		  (D)	 speaking task

[CTET (1-5) (Lang.-I) 08-12-2019]

	 40.	 In a constructivist classroom language 
learning would most importantly be based 
on :

		  (A)	 minute observation and record of each 
child’s handwriting development

	 	 (B)	 correction of spelling errors and 
making sure that they are not 
repeated.

		  (C)	 Carefully completing the language 
syllabus.

	 	 (D)	 group discussion and peer interaction.
[CTET (1-5) (Lang.-I) 09-07-2019]

	 41.	 “You ask, what has my government  
done for you? I can answer in two words 
a lot !”

		  The question put up here is–
		  (A)	 a prompt	 (B)	 explanatory
		  (C)	 rhetorical	 (D)	 stylized

[CTET (1-5) (Lang.-I) 09-12-2018]
	 42.	 A teacher asks students of Class III to 

describe their best friend. She writes the 
students, responses on the blackboard. At 
last, she states that all these describing 
words on the blackboard are adjecties. 
This is :

		  (A)	 Immersion method
		  (B)	 Incidental method
		  (C)	 Inductive method
		  (D)	 Deductive method

[CTET (1-5) (Lang.-I) Feb. 2016]
	 43.	 The maximum participation of students 

is possible while teaching English by the 
teacher using authentic tasks through :

		  (A)	 structural appraoch
		  (B)	 communicative approach
		  (C)	 grammar translation method
		  (D)	 direct method

[CTET (1-5) (Lang.-I) Feb. 2016]
	 44.	 When children first start to speak in 

sentences, their speech may be described 
as :

		  (A)	 babbling
		  (B)	 exceptionally soft
		  (C)	 telegraphic
		  (D)	 multi-lingual

[CTET (1-5) (Lang.-I) 28-07-2013]
	 45.	 Decorum in spoken language pertains  

to :
		  (A)	 appropriate gestures
		  (B)	 correct grammatical usage
		  (C)	 voice quality or loudness
		  (D)	 clarity and purity of style

[CTET (1-5) (Lang.-I) 18-11-2012]
  	46.	 A speaking activity can be made more 

purposeful by :
		  (A)	 insisting on correct structure and 

pronunciation 

		  (B)	 interrupting the activity with some 
writing/reading

		  (C)	 motivating students to complete a 
task at the end

		  (D)	 providing a  specif ic  l is t  of 
vocabulary to use
[CTET (6-8) (Lang.-I) 15-2-2014]

	 47.	 The ‘question’ : How will I achieve 
my teaching goal ? In the design of a 
language instruction, which helps the 
teacher to ‘keep the lesson on target’ is/
are the—

		  (A)	 Objectives
		  (B)	 Methodology
		  (C)	 Evaluation
		  (D)	 Documentation

[CTET (6-8) (Lang.-I) 21-9-2014]
	 48.	 Which learning domain constitutes 

higher order thinking?
		  (A)	 remembering
		  (B)	 understanding
		  (C)	 application
		  (D)	evaluation'

[CTET (6-8) (Lang.-I) Jul.  2013]
	 49.	 When reading, to ‘decode’ means to
		  (A)	an action used in ICT
		  (B)	 solving a complex puzzle
		  (C)	 to analyse and understand
		  (D)	understanding a foreign language

[CTET (6-8) (Lang.-I) Jul.  2013]
	 50.	 Speaker 1: We had an enjoyable holiday 

this winter.
		  Speaker 2: Where did you go?
		  Speaker 1: Where?
		  Speaker 2: Yes, which place did you 

visit?
		  During the assessment of students’ 

speaking-listening skills, mark/s would 
be deducted during this exchange for

		  (A)	Speaker I	 (B)	 Speaker II
		  (C)	 Both	 (D)	Neither

[CTET (6-8) (Lang.-I) Jul. 2013]
	 51.	 The structural approach advocates :
		  (A)	using mother tongue
		  (B)	 resorting to fluency
		  (C)	 selection and gradation of material
		  (D)	assessing learners’ performance

[CTET (1-5) (Lang.-II) Sept. 2015]
	 	 	 resorting to fluencey—/kkjk izokg 

ck syus dh 'kj.k ysuk] assessing 
learners performance using mother 
tongue—ekr`Hkk"kk dh enn ls ewY;kadu] 
using mother tongue—ekr`Hkk"kk dk 
iz;ksx v'kq¼ fodYi gSA 

	 52.	 What is taught is not what is learnt 
because–

		  (A)	 a teacher or learner can never fully 
master any discipline
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	  	 (B)	 students pay attention during 
informal discussion 

		  (C)	 a teacher’s socio-economic level 
may differ widely from the students’

		  (D)	 students possess different abilities, 
personalities and come from a 
variety of backgrounds

[CTET (1-5) (Lang.-II) 18-11-2012]
	 53.	 Teachers help learners ‘construct’ their 

knowledge in English by :
			  (A)	 giving the learners a lot of 

assignments and projects that will 
lead to much practice

		  (B)	 correcting every mistake a learner 
makes and giving the relevant rule 
of grammar as immediate feedback

		  (C)	 giving extensive language drills in 
which learners practice language 
items mechanically

		  (D)	 enabling them to see the relationship 
between the prior knowledge and 
the new knowledge

[CTET (1-5) (Lang.-II) 26-06-2011]
	 54.	 What does fluency in reading mean ?
		  (A)	 Ability to interpret the text	
	 	 (B)	 Ability to read without any grammat-

ical errors.
		  (C)	 Ability to read a text at ease with 

expression.	
	 	 (D)	 Ability to read a text without any 

mistake at all.
[CTET (6-8) (Lang.-II) 31-01-2021]

	 55.	 Bottom-up processing in listening is to :
		  (A)	 decode the overall messages of the 

discourse and move down the micro 
level units

	 	 (B)	 encode all the sounds from speaker 
to listener

		  (C)	 use multiple ways to decode the 
messages

	 	 (D)	 decode messages moving from 
sounds to words, phrases, clauses 
and other grammatical elements to 
sentences

[CTET (6-8) (Lang.-II) 7 Jul.2019]
	 56.	 Which of the following approaches/

methods advocates linguistic competence 
and performance ?

		  (A)	Structural approach
		  (B)	 Communicative approach
		  (C)	 Grammar-translation method
		  (D)	Direct method

[CTET (6-8) (Lang.-II) Sep. 2016]
	 57.	 To develop language functions, teaching 

of speaking skills for younger children 
would include :

		  (A)	 greeting, informal requests, asking 
for personal information

		  (B)	 telephonic chat

		  (C)	 debates and declamations
		  (D)	 short project presentations

[CTET (6-8) (Lang.-II) 15 Feb. 2014]
	 58.	 In a listening-speaking assessment 

activity, indicate how you will assess the 
following exchange :

		  Teacher : Have you watched any English 
film lately? Tell your friend about it.

		  Student 1 : 	 Of course. Especially 
animations. 

		  Student 2 : 	 Me too. I like them a lot.
		  (A)	 Student 1: Incorrect response
			   Student 2: Incorrect response
		  (B)	 Student 1: Correct response
			   Student 2: Correct response
		  (C)	 Student 1: Incorrect response
			   Student 2: Correct response
		  (D)	 Student 1: Correct response
			   Student 2: Incorrect response

[CTET (6-8) (Lang.-II) 18 Nov. 2012]
	 59.	 All-round development of a child 

implies:
		  (A)	 following the natural stages of child 

development
		  (B)	 providing vocational education for 

the learner to function in any work 
environment

		  (C)	 harmonious development of 
physical, emotional and mental 
faculties

		  (D)	 specialized training to make the 
learner a ‘Jack of all Trades’

[CTET (6-8) (Lang.-II) 29-01-2012]

Solutions
	 1.	 (A)	 Audio Lingual Hkk"kk i¼fr fyf[kr 

Hkk"kk dh rqyuk esa cksyh tkus okyh 
Hkk"kk ij vf/kd tksj nsrh gSA ;g Hkk"kk 
i¼fr Charles Fries }kjk nh xbZ gSA 
bldk ekuuk gS fd Nk= dks u;s 'kCnksa 
vkSj O;kdj.k dks y{; Hkk"kk esa le>us 
ds fy, Nk= dh ewy Hkk"kk dk mi;ksx 
ugha djuk pkfg,A mUgsa lh/ks y{; Hkk"kk 
fl[kkuh pkfg,A tks f'k{kd fMªy fof/k 
}kjk fl[kk ldrk gSA ftlls Nk=ksa ds 
okpu dkS'ky dk fodkl gksxkA

	 2.	 (C)	 Nk=ksa dks ys[ku dk rjhdk fl[kkus 
ds fy, ,d fof'k"V 'kS{kf.kd Øe dk 
mi;ksx fd;k tkrk gSA tks fuEu izdkj 
gSaµ

	 	 	 l	 lcls igys yEcor~ o {kSfrt js[kk 
okys v{kj fl[kkuk – I, A, EA

	 		 l	 mlds ckn Curve okys v{kjksa ls 
ifjfpr djokuk & C, D, 3A

	 	 	 l	 fQj Nk=ksa dks tksj ls i<+us o dksbZ Hkh 
v{kj ;k la[;k fy[kus dks dgukA

	 	 	 ;g lHkh fcUnq Nk=ksa dks ys[ku lh[kus esa 
enn~ djrs gSaA

	 3.	 (D)	bl Online Tool dk mi;ksx djds Nk= 
fdlh Hkh ikB dh vfHkO;fDr ds lkFk 
/kkjkizokg lfgr i<+ ik;saxsA ;g Nk= 
dks ,d lfØ; recall  vkSj izfØ;k dks 
le>us esa enn djrk gSA ;g Online 
tool  Nk= dks lkexzh ds lkFk LFkk;h 
lEcU/k cukdj lh[kus esa enn djrk gSA 

	 4.	 (D)	rhljh d{kk ds cPpksa dks orZuh fl[kkus 
ds fy, Bilingual Text lcls de 
izHkkoh midj.k gSa D;ksafd Bilingual 
Text }kjk Nk=ksa dks nks Hkk"kkvksa dk Kku 
nsus esas lgk;rk iznku dh tk ldrh gSA 
u fd orZuh fl[kkus esaA orZuh fl[kkus esa 
fizaV le`¼ okrkoj.k lkFkZd fizaV }kjk 
Flash cards }kjk Nk=ksa dh orZuh dks 
lq/kkj ldrs gSaA

	 5.	 (B)	 'kkjhfjd xfrfof/k ds ek/;e ls 'kCnkoyh 
fl[kkuk Whole Language Approach 
esa ugha vkrk] D;ksafd Whole Language 
Approach Hkk"kk dks lEiw.kZ bdkbZ ds 
:i esa ns[krk gS] tks O;kdjf.kd lajpuk 
ds ctk; vFkZ ij /;ku dsfUær djrk 
gSA blesa Nk=ksa ds okLrfod vuqHkoksa vkSj 
iwoZ Kku dk mi;ksx dj f'k{kk dk fuekZ.k 
fd;k tkrk gSA

	 6.	 (A)	 Authentic dk;Z Nk=ksa dks Hkk"kk mi;ksx 
djus ds fy, izsfjr djrk gS] D;ksafd ;g 
oks dk;Z gksrs gSa tks Nk= vius nSfud 
thou esa djrk gSA ;g Nk=ksa dks okLrfod 
nqfu;k esa Hkk"kk Kku o dkS'ky dks ykxw 
djus dk volj iznku djrk gSA

	 7.	 (A)	Nk= jpukRed (Constructive) d{kk esa 
ckr djds ,oa lewg esa ppkZ djds lh[krs 
gSa] blesa Nk= viuh le> ds vk/kkj ij 
Hkk"kk dk fuekZ.k djrs gSaA blesa Nk= Lo;a 
ifjdYiuk djrs gSa] 'kks/k djrs gSa] tk¡p 
,oa vkfo"dkj djrs gSaA

	 8.	 (B)	 f'k{kd dks Multilingualism dks 
lalkèku ds :i esa mi;ksx djuk pkfg,] 
D;ksafd Multilingualism d{kk esa Nk= 
viuh ?kjsyw Hkk"kk dk mi;ksx vklkuh ls 
dj ldrs gSaA lkFk gh ;g ,d ls vf/kd 
Hkk"kkvksa ds iz;ksx dks c<+kok nsrk gSA

	 9.	 (A)	 'kkjhfjd izfrfØ;k esa dsUæh; Hkwfedk 
f'k{kd dh gksrh gS] D;ksafd ;g ekSf[kd 
buiqV rd igq¡pus ds fy, 'kkjhfjd xfr 
dk mi;ksx djds Hkk"kk ;k 'kCnkoyh 
fl[kkus dh ,d fof/k gSA

	 10.	 (A)	 jksfg.kh dqN fcUnqvksa dks /;ku esa j[ksxh 
tSlsµOpen ended iz'uksa dk mi;ksx 
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dj Nk=ksa dks vkSipkfjd lapkj fl[kkuk] 
y{; Hkk"kk ds igyqvksa dks le>kuk 
vkfnA bu lHkh dk mi;ksx djds og 
Nk=ksa dh Hkk"kk dk fodkl djsxhA

	 11.	 (B)	 Crossword puzzel [ksy Nk= dh 
'kCnkoyh lq/kkjus esa lgk;rk djrs 
gSaA ;g [ksy Nk=ksa esa leL;k lek/kku 
dkS'ky dks fodflr djrk gS tks fn;s 
x;s 'kCnksa dks gy djus esa lgk;rk djrk 
gSa ;g u dsoy orZuh dk vH;kl djds 
'kCnkoyh c<+krk gS] cfYd 'kCn vkSj 
okD; dks [kkstus] tksM+us vkfn esa Hkh 
lgk;rk iznku djrk gSA

	 12.	 (A)	bl xfrfof/k dks Experiential xfrfof/k 
dgk tkrk gS] D;ksafd ;g djds lh[kus 
ij cy nsrh gSA bl xfrfof/k esa Nk=ksa dks 
okLrfod nqfu;k ds O;kogkfjd vuqHko 
ls fl[kk;k tkrk gS] tks Nk=ksa dks iBu 
fLFkfr ls tksM+us esa enn djrh gS vkSj os 
lfØ; :i ls viuh le> cuk ikrs gSaA

	 13.	 (B)	 tc cPps dks dfork lqukus ds fy, 
dgk tkrk gS] rks ;g f'k{kd dh Nk= 
ds okpu n{krk dk vkdyu djus esa 
lgk;rk djrk gS] D;ksafd blesa Nk= 
fyf[kr ikB dks tksj ls i<+rs gSa tks 
mudh lgh mPpkj.k] rky] rhyming 
'kCn] izkjfEHkd /ofu] vkfn dh lgk;rk 
ls f'k{kd }kjk mudk vkdyu djus esa 
lgk;rk iznku djrk gSA  

	 14.	 (A)	 Hkk"kk ds dk;kZRed igyw Communi-
cative approach ls Hkk"kk lh[kus esa 
xfr iznku gksrh gS] D;ksafd ;g Hkk"kk ds 
dk;kZRed igyw ij /;ku dsfUær djrk 
gS] tSls izokg dks c<+kok nsuk] Nk=ksa dks 
okLrfod thou dh fLFkfr dk lkeuk 
djus ds fy, izksRlkfgr djuk] lapkj dks 
fodflr djuk vkfnA 

	 15.	 (A)	izkFkfed Lrj ij Hkk"kk ds [ksy ;k 
xfrfof/k ds fy, funsZ'k cPps dh ?kjsyw 
Hkk"kk ;k ekr`Hkk"kk esa fn;s tkus pkfg,] 
D;ksafd izkFkfed Lrj ds Nk= viuh 
?kjsyw Hkk"kk esa fo'ks"kK gksrs gSa vkSj NEP  
}kjk Hkh ;g dgk x;k gS fd d{kk 1 ls 5 
rd ds lHkh Nk=ksa dks ?kjsyw ;k ekr`Hkk"kk 
esa f'k{kk iznku djuh pkfg,] rkfd cPps 
Ldwy esa fiNM+k gqvk eglwl u djsa vkSj 
mudk Hkk"kk fodkl leku :i ls gks 
ik;sA

	 16.	 (C)	 dfork xhr vkSj ea=ksPpkj.k ds cPpksa dks 
O;kdj.k fl[kkus dk rjhdk lgh ugha gS 
D;ksafd dfork] xhr vkSj ea= cPpksa dh 
'kCnkoyh dks c<+kus muds Jo.k o okpu 
dkS'ky dks fodflr djus vkSj fofHkUu 

Hkk"kkvksa dh laLÏfr ls ifjfpr djkus 
rFkk mPpkj.k esa lq/kkj djus ds fy, 
mi;ksx dh tkrh gSA

	 17.	 (B)	 Communicative approach ewy :i 
ls Fluency dks c<+kok nsrk gS] D;kssafd 
Nk=ksa dks okLrfod lapkj esa 'kkfey 
djds izHkkoh <ax ls laokn djus esa 
lgk;rk iznku djrk gSA bldk ekuuk 
gS fd ftruk Nk= vFkZiw.kZ <ax ls laokn 
djsaxs mruk gh muesa Hkk"kk Fluency 
fodflr gksxhA

	 18.	 (B)	 ESL dk vFkZ gS English as a Second 
Language, Hkkjrh; Ldwyksa esa English 
dks nwljh Hkk"kk ds :i esa i<+k;k tkrk gS 
rkfd Nk= f}Hkk"kh cu ldsa vkSj dq'kyrk 
ls vaxzsth cksy ldsaA ;g efLr"d dks 
lfØ; j[kus esa enn djrh gS vkSj lapkj 
dkS'ky dks Hkh c<+kok nsrh gSA

	 19.	 (A)	 Extensive Reading dh fo'ks"krk 
èkkjkizokg ds fy, i<+uk gS ftlesa vkuUn 
ds fy, yEcs ikB i<+uk 'kkfey gS vkSj 
;g lkekU; iBu dkS'ky fodflr djus 
esa enn djrk gSA

	20.	 (B)	 Phoneme Hkk"kk esa ;g ,d 'kCn 
dks nwljs 'kCn ls vyx djus ds 
fy, Hkk"k.k dh lcls NksVh bdkbZ gSA 	
mnkgj.kµ‘Tap’ esa ‘P’ rRo mls ‘Tab, 
‘Tag’ vkSj ‘Tan’ ls vyx djrk gSA

	 21.	 (C )	cky lkfgR; lkfgR;d ikB dk mi;ksx 
djds izkFkfed Lrj ij ,d Hkk"kk ekWMy 
iznku djrk gS] Nk= u;s 'kCn lh[krs gSa] 
okD; jpuk djrs gSa] o ekud dgkuh 
lajpuk lh[krs gSaA

	 22.	 (C)	 Role Play Nk=ksa dks vU; yksxksa ds lkFk 
ckprhp djds ;FkkFkZoknh fLFkfr dk irk 
yxkus esa lg;ksx nsrh gS vkSj ;g cPpksa 
esa vuqHko rFkk fofHkUu j.kuhfr;ksa dk 
fodkl djrh gSA

	 23.	 (D)	cPpksa esa Hkk"kk fodflr djus ds fy, 
muls ckr djuk Emergent Literacy 
dk ,d egRoiw.kZ ?kVd gS] D;ksasfd ;g 
Ldwy esa izos'k djus ls igys 'kq: gks 
tkrk gSA ge muds lkFk laokn djds 
mudk leFkZu dj ldrs gSa vkSj lk{kjrk 
esa mudh enn dj ldrs gSaA

	 24.	 (B)	 ys[ku dks Recursive izfØ;k dgk tkrk 
gSA blesa iwoZ ys[ku la'kks/ku o lEiknu 
'kkfey gS rFkk ys[ku esa Nk= iqjkus pj.kksa 
dks fQj ls ns[kdj mUgsa lgh dj ldrs 
gSaA blfy, ys[ku dks Recursive dgk 
tkrk gSA 

	 25.	 (A)	,d 'kS{kf.kd midj.k ds :i esa dgkuh 
dk bLrseky djus esa mldh f'k{kk ;kn 

djuk 'kkfey ugha gSA dgkuh }kjk f'k{kk 
iznku djuk ,d izHkkoh rjhdk gS ftlds 
}kjk cPps eq[; fcUnqvksa dks yEcs le; 
rd ;kn j[k ikrs gSaA

	 26.	 (D)	 Hkk"kk lh[kus esa Toy Based Pedagogy  
dk ,dhdj.k ilanhnk f[kykuksa dk 
fp=  cukdj fd;k tk ldrk gSA ;g 
NEP 2020 ij vk/kkfjr gS] D;ksafd ;g 
cpps ds laKkukRed fodkl esa egRoiw.kZ 
Hkwfedk fuHkkrk gS vkSj jpukRedrk vkSj 
leL;k lq/kkj esa enn djrk gSA

	 27.	 (C)	 f'k{kd }kjk 'kCnkoyh vkSj Hkk"kk ds vU; 
igyw lh[kus ds fy, mi;ksx dh tkus 
okyh oLrq vkSj phtksa dks Realia dgk 
tkrk gSA ;g okLrfod thou dh oLrq,¡ 
gksrh gSaA tks Nk=ksa dks okLrfod thou dh 
phtksa ls tqM+us vkSj Hkk"kk ds u;s igyqvksa 
dks fodflr djus esa enn djrh gSA

	 28.	 (C)	 Hkk"kk [ksy ds lEcU/k esa ;g xyr gS fd 
Hkk"kk [ksy cPpksa dks lh[kus ds mís'; 
ls HkVdkrs gSa] D;ksafd Hkk"kk [ksy Nk=ksa 
ds Hkk"kk dkS'ky dks fodflr djus 
esa lEiw.kZ ;ksxnku nsrs gSaA ;g Nk=ksa ds 
lHkh Hkk"kk dkS'kyksa dks fodflr djrs 
gSa tSlsµiBu] Jo.k] ys[ku] okpu] ;g 
Nk=ksa dks y{; Hkk"kk esa laokn djus ds 
fy, izksRlkfgr djrs gSa vkSj Hkk"kk mi;ksx 
ds fy, lkFkZd okrkoj.k cukrs gSaA

	 29.	 (B)	 vFkZ dk fuekZ.k djus ds fy, cPps i<+rs 
vkSj fy[krs gSaA 'kCnksa ds iBu vkSj ys[ku 
}kjk cPps Hkk"kk dks le>rs gSa ,oa mldk 
mi;ksx djuk lh[krs gSaA tks mUgsa vFkZ 
dk fuekZ.k djus esa Hkh lgk;rk djrk 
gSA ikB dk mi;ksx djds og O;k[;k 
djuk] lEcU/k cukuk] dYiuk djuk 
vkSj vuqeku yxkuk lh[krs gSa tks mUgsa 
vFkZ dk fuekZ.k djus dh {kerk esa lq/kkj 
djrk gSA

	 30.	 (B)	 bl fof/k dks Total Physical Response 
dgk tkrk gSA ;g fof/k izkjfEHkd o"kZ esa 
vkns'k ;k dk;Z djus ds fy, izksRlkgu ds 
:i esa cPpksa dh Hkk"kk lh[kus esa lgk;rk 
djrh gSa bl fof/k esa f'k{kd vkKk nsrs gSa 
vkSj Nk= mudh vkKk dk ikyu djds 
dk;Z djrs gSaA tSlsµSit Down, Keep 
quiet, touch your head etc. ;g Nk=ksa 
esa ek¡lisf'k;ksa }kjk Hkk"kk fl[kkus dk ,d 
dq'ky rjhdk gSA

	 31.	 (A)	 Task tks :i] vFkZ vkSj mi;ksx dks 
tksM+dj lh[kus dk leFkZu djrk gS mls 
Communicative task dgk tkrk gS] 
D;ksafd ;g /kkjk izokg dks etcwr djus 
ij tksj nsrk gSa vkSj okLrfod thou dh 
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fLFkfr dk lkeuk djus ds fy, Nk=ksa dks 
c<+kok nsrk gSA ;g O;kdj.kh; lajpuk ds 
ctk; lapkj ij dsfUær gS vkSj Hkk"kk ds 
dk;kZREkd mi;ksx ij tksj nsrk gSA

	 32.	 (C)	 Hkk"kk esa innateness dk vFkZ gS Hkk"kk 
cksyus ds fy, euq"; dh izkÏfrd {kerkA 
;g cPpksa esa fcuk fdlh vkSipkfjd 
rjhdksa dk mi;ksx djs] izkÏfrd rjhds 
ls Hkk"kk dkS'ky dks fodflr djrh 
gSA tSls cPps viuh igyh Hkk"kk vius 
ifjos'k }kjk lh[krs gSaA

	 33.	 (C)	 f'k{kd bl xfrfof/k }kjk Hkk"kk le`¼ 
okrkoj.k cukus dk iz;kl dj jgk gS] 
D;ksafd cPps ftruk phtksa dks Lo;a dh 
Hkk"kk ls lh[ksaxs mruk gh og y{; Hkk"kk 
dks le>us esa l{ke gks ik;saxsA

	 34.	 (B)	 ukVd f'k{k.k dk mís'; gS Hkk"kk dks 
c<+kok nsukA ;g cPpksas dks ekSf[kd :i ls 
vksj psgjs dh vfHkO;fDr vkSj 'kkjhfjd 
xfrfof/k }kjk Lo;a dks O;Dr djus ds 
fy, izksRlkfgr djrk gSA lkFk gh ;g 
Nk=ksa dks u;s 'kCn O;kdj.k lajpuk 
vkfn dk Kku fodflr djus esa lgk;rk 
iznku djrk gSA

	 35.	 (A)	 Realia dk vFkZ gS nSfud thou dh phtsa 
tSlsµf[kykSus] fp= isafVax tSlh oLrqvksa 
dk mi;ksx dj Nk=ksa dks okpu dkS'ky 
fl[kkukA ;g lHkh Hkk"kk dkS'kyksa dks 
fodflr djus esa lgk;rk djrh gSA ;g 
Nk= dks y{; Hkk"kk lh[kus esa lgk;rk 
djrs gSaA

	 36.	 (B)	 tc f'k{kd&vf/kxe esa okLrfod oLrqvksa 
dk mi;ksx djrh gSa] mls realia dgk 
tkrk gSA ;g nSfud thou dh oLrq,¡ 
gSa ftUgsa f'k{kd f'k{k.k esa mi;ksx djds 
Nk=ksa dks muds thou dk lEcU/k 
cukus esa l{ke cukrh gS rkfd og u;h 	
vo/kkj.kkvksa vkSj fopkjksa dks le> ldsA

	 37.	 (D)	mijksDr mnkgj.k esas a-BICS gS 
b-CALP gSA ;g nksuksa gh Hkk"kk dkS'ky ds 
fodkl esa lgk;rk djrh gSA BICS dk 
vFkZ gS nSfud thou ds fy, vko';d 
Hkk"kk tSlsµnksLrksa ls ckr djuk] Phone 
ij lapkj djuk ogha CALP dk vFkZ 

gSµvkSipkfjd 'kS{kf.kd mís'; ds fy, 
Hkk"kk dk mi;ksx djus dh {kerkA vr% 
Sheela }kjk bu nksuksa xfrfof/k;ksa dk 
mi;ksx fd;k tk jgk gSA 

	 38.	 (D)	 The audio-lingual method is a 
style of teaching used in teaching 
foreign languages. It is based on 
behaviourist theory. So, option (D) 
is correct.

	 39.	 (B)	 cloze test

	 40.	 (D)	 It is most importantly based 
on Group discussion and peer 
interaction.

	 41.	 (C)	 rhetorical (Hkk"kkxr ;k vkyadkfjd) 
a lot dk rkRi;Z gS–to a very great 
degree or extent.

	 42.	 (C)	 Inductive method of teaching makes 
use of student ‘‘noticing’’ instead 
of explaining a given concept and 
following this explanation with 
examples; the teacher presents 
students with many examples 
showing how the concept is used.

	 43.	 (B)	 Communicative approach in a 
teaching approach that highlights the 
importance of real communication 
for learning to take place.

	 44.	 (A)	 Babbling means gibberish 
resembling the sounds of a baby.

	 45.	 (A)	 Decorum in spoken language refers 
to appropriate gestures.

	 46.	 (C)	 A speaking activity can be made 
more purposeful by motivating 
students to  complete at task at the 
end.

	 47.	 (A)	 An educational objective relates 
to gaining an ability, a skill, a new 
attitude etc. rather than having 
merely completed a given ask.

	 48.	 (D)	 Higher-order thinking requires 
students to apply, analyze, and 
evaluate information.

	 49.	 (C)	 Decoding is the ability to apply 
your knowledge of letter-sound 

relationships, including knowledge 
of letter patterns, to correctly 
pronounce written words.

	 50.	 (A)	 Marks would be deducted from 
speaker 1 as he has not given 
answer and question exactly.

	 51. 	(B)	 fn;s x;s iz'u dk vFkZ <kapkxr fof/k dh 
odkyr djrk gS\ bldk mÙkj fn;s x;s 
pkjksa fodYiksa esa ls fodYi (B) esa fn;s 
x;s 'kCnksa selection and gradation of 
material vFkkZr~ pquko vkSj Øekxr 
<ax ls fn;k x;k gSA fn;s x;s ckdh vU; 
fodYi&

	 	 	 resorting to fluencey—/kkjk izokg 
ck syus dh 'kj.k ysuk] assessing 
learners performance using mother 
tongue—ekr`Hkk"kk dh enn ls ewY;kadu] 
using mother tongue—ekr`Hkk"kk dk 
iz;ksx v'kq¼ fodYi gSA 

 	 52.	 (D)	 Because students possess different 
abilities, personalities and come 
from from a variety of backgrounds.

	 53.	 (D)	 They do so by correlating the 
students previous knowledge with 
that of the new one.

	 54. 	(C)	 Fluency means in reading is the 
ability to read a text at ease with 
expression.

	 55.	 (D)	 decode messages moving from 
sounds to words. Phrases, claused 
and other grammatical elements to 
sentences.

	 56.	 (B)	 Communicative approach advocates 
linguistic competence and 
performance.

	 57.	 (A)	 Teaching of speaking skills to 
younger children would include 
greetings informal requests, asking 
for personal information. So option 
(A) is correct.

	 58.	 (A)	 I will assess the following exchange 
in the way it is given in option (A).

	 59.	 (C)	 All-round development of a child 
implies harmonious development 
of physical, emotional and mental 
faculties.
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